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ROl NO. ..o H-19910 |
| e 9 i TN, 2018—19
 MATHEMATICS

P

~ (Hindi and English Version)

[Total No. of Questions: 26) _ [Total No. of Printed Pages: 16)].
~[Time: 03 Hours] - | ' ~ [Maximum Marks: 100]
- B

(i) & g s &

(il). 797 751 1 © 5 aw wgire ge7 & v7 4@ G (5x1) = 5 3@ AT &/

(iii) 7E7 FHE 6 T 10 T G 2 3HF, 11 14 TF 3 3F, 15 W 21 T 4 & 9
22 @ 26 a@ 5 & AT &/ |

(iv) T97 H5F 6 & 26 TF JaRk® [AFeq fay 73 &/

(v) SIFEgHEagar & 07 F1% |
(vi) 7e7 97 § 7w Juv # snavaEar &/

Instructions:
(i) All questions are compulsory.

(i) Q. No. 1to 5 are objective type and 5 marks (1x 5) are allotted for each
question. '
(ifi) From Q. No.6 to 10, 2 marks from 11 to 14, 3 marks, from 15 to 21, 4
- marks and from 22 to 26, 5 marks are allotted. |
(iv) Options are given in Q. No.6 to 26.
{v)- Draw a neat diagram if needed.
(vi) Graph paper is required.
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. Choose and write the correct 6ption -
(i) A number V5 is - |

- wod-suruopIeoqdu-mmar//:dyy

: (A) .rational” -~ (B) irrational
- (€ natural (D) .odd
| (i) A pofynomtal contammg two térms is called -
(A) Monomial - - (B Bmormal
(C) Zero polynomial (D) Ttinomial -
(ili) Equation of y-a_'xi§ is - '
(A) y=0. - @B x—_~6
© x=b . . D) y=a
| (iv) Pomt (1,1 he in cartesian plane in - .
(A) .I* quadrant (B) II" quadrant
© e quadrant . (D) IV™ quadrant
(v) Each angle of equilateral triangle is - |
@) 300 @) 6
(€) 45° . D) w0
52 Rew e & ot BRw — e L (xe=e)
@ a% &1 AF B ... et eeee e ep st ( 1 /o )
(ii) wa@a%ﬁaﬁvﬁiﬁrm ..................................... & 21 (180° /360°)
(iii) zrf%z?gﬁwrﬁ% ﬂ’fﬁﬂﬂﬁﬁ‘ﬁm...: ........................... Brfl | (e / 3remTe)
(V) T BT G AT e[ 2(8b +.bC + ca) / abe]
(v) «EIT x3-2x2+4x A P H T’Tﬁﬁ e e e s e g1 /2}_ -
" Fill in the blanks-° | L |
) The valuc of a%is ............. e eaaeans e eteeneerera e (1/0)
(i), Sum of the angles of a quadrilateral is equal 10 . iieiiniinannn, o (180° / 360°)
(iii) If two circle are equal then their radii are. ........... — (equal / unequal)
@iv) Surface area of cuboid s ........... ivevereeresons [2(ab 4 be + ca) /abc]
W) chfﬁcient of x* of polynomial x3- 2X2 44X S oeneenennl STPT (172)
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(i) Hafg & Fréwie faferg) .

(iti) E’IHYWWWWWWWI

(iv) ﬂ%m&ﬁ%ﬁﬂmwmﬁﬁﬁﬁ?
) %@aagqa#ma%emwmﬁ%ml

Write the answer in one word/sentence -

(1)  Write the power of polynomial 4x*+ 3x3+ 2x2 + x.

(it) Write the co - ordinate of origin.

(111) Write a lmear equation of two vatiables. | |

(l‘-’) How many rat:onal numbers are there between two rational numbers”
(v) Write the maximum power (degree) of the variable in linear polynomlgl;
e / e fefag — _ o

i) R s W B WA FE ¥

(ii) afamﬂmwmmﬁuqaﬁagﬂmm g1

(ii1) ﬁﬂﬂ?ﬁﬂﬂﬂ%uﬁmoémows’ﬁ?l

(iv)'wqmm}mwmwmaﬁuwgaﬁéa

(Q)-'mmﬂﬁm1€tﬁ%|_

Write true/false - -

(1) . The average value of variable term is called mean.

(1 ><5-5}

(i) The- ﬁuoﬁe is the value of the observation which has maximum frequency. . -

(iii) The probability of an évent lies between 0 and 100.
’ : ) . . . . . 1 ‘_
(iv) In a throw of die, the probability of getting an even number is >

(v) The probability of impossible eventis 1. o,

._ _(1><'5=5). '

moa*auuuopmoqdm MM/ dny
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@ o
() oo <R ciard

(i) ¥ P AT
(iil) TP
(v) PR = TR + AR |

v) e wher

v
,,,,,

Match the column-

(A)

(i) : Breadth less length

(i) Volume of cone

- (iii) Riglﬁ angle

(a) .

(b) .

- ©

W ;.ﬂf.‘[(d)_

(e)
)

(8)

- (a) Pythagoras theorem '

(1x5:$) |

@ - -
Wm
-TI'I_'zh_'

rir¢h’
90°"
ax+b=0

180°

(B)

(®) imr?h

(iv) (Hj,rpotf:nuse}2 = gPerpendicuihr)z + (B‘ast;:)_2

(v) Linear cq'ualiop

(©) nrth

(d) line .

_(ej 00°

o ax+b=0"

® 180° -
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1 o |
7 B W P offrexer BT |
Rationalise-the denorﬁinator of L .

V7

- @dr /OR

e Ry —

Simplify ~

(125)3

3mgfa # 7 @1 fafag ~  http://www.mpboardonline.com
() A®f¥wme (i) Ba Priwe
- In the given figure write — '

(i) Co-ordinateof A (ii) Co - ordinate of B

+4
+3
.-2 ______ .TB
. --1
. . N 1
1 L L 1 L i 1 L
T | | 1 L ¥ ] L
_?—3—2—11__ 1"2 3 4
.A', ______ ._2..—
3___ €
4-|-
341 /OR

=g (1. 0) W& (0. 2) 5 3w W Rerg 27

‘At which axis points (1, 0) and (0, 2) lie?

[910] ‘ . | | _ ‘Pagesoflw
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)

If base and altitude of a parallelogram are 16 cm and 8 cm respectively. Find the area of

parallelogram.

NG /OR

ﬁlﬂﬁAD,_AAB'CEﬁIQ?ﬁWﬁﬂiST%ﬂW%‘gU{ABDW%Wz%ﬁmACDWQm'

T fafEe, aswd 9AE @t €7
. A

B—pH —C

In given diagram,-Ab is median of triangle ABC and area of triangle ABD is equal to

area of triangle ACD, give reason why areas are equal.

A

wod-durpuopreoqdurmmm//:dyny

B_D_C

14 9. BT T U M BT ORI &TBA F1d DI |

)
—

Find the surface area of sphere of radius 14 cm. .
S=dT /OR
12 AL O 916 99 BT T STd B |

Find the volume of cube of edge 12 cm.

http:/www.mpboardonline.com
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710 ﬁaaﬁlqﬁmﬁis-ﬁm@fﬁ#ﬁooﬁﬁ)ﬁﬂﬁ{ﬁm%m%m
41 39, 48, 52, 46, 62 54,40, 96, 52, 98, 40, 42, 52 60
ﬁmmmﬁmaﬁmi

In a mathemaucs test, 15 studcnts obtamed the followmg marks (out of 100)
41 3948524662544096 529840425260
Find thc mean of this data.

| - JRIAr fOR

wfm#w$wﬁﬁﬁﬁﬁ%ﬁw*ﬁaﬁw~
| 2,3, 4,5, 0 1, 3, 3, 4 3
- ¥ e BT e W B

The following number cf gnals were scored by a football team in" 10 matchcls
' 2 3,4,5,0, 1, 3 3,4,3 |

‘Find the mean of these goal's

?

w1106ﬁp$mﬁwaﬁﬁqﬁlﬁpsﬁ?q v & o g% 0 2 )

'moyau[[uo'pin6‘qdm'MMM,r/:dn,q

. Exp_ress_O. 6.in the form ‘E, where p and q are integers, and q # 0.

31 / OR
Rauonahse 1he denormnator of 2
N7-2 _ . . _
W12 “ﬂﬁ’merxa-y T%ﬁhaaf%—lmqi ' 5 Q)

Write three solutions for equation 2k + y = 7.

[91 0] E | Page_alous'
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@ /OR

af g (3, 4) T 3y = ax+7 B G W R R, 4 a w1 o

If the point (3, 4) lies on the graph of the equation 3y = ax + 7, then find the valud SF a.

w43 ompfy ¥, A £ZPQR = ZPRQ @ fig #ifog f& ZPQS = ZPRT 21

In fig., ZPQR = LPRQ , then prove that ZPQS = ZPRT.

P

S\ Q R Cad
AACT /OR

o ¥ x SRy B A ST AR

In fig., find the values of x and y.

—>B
R y

_'§.14ﬂ§ﬁa$aﬂ'§mm%ﬁwwﬁﬁml |

Write any three types of quadrilaterals and draw the diagram for each.

afe fa%'\«%’r‘i@j,ﬁ @ AT BT HE 100°. 110°, 60° &, a0 = Bor 3T BT |

3741/ OR

N

LS

(%)

If three angles of a quadrilateral are 100°, 110° and 60°, then find the fourth angle.

wod-durpuopreoqdur mmm//:dyy
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W5 Tlﬁm maﬂﬁu -
12x2 - 7x +1.
Factonse—
1262 - Tx + 1
M / OR
Gug&amﬁmraﬂmaﬂ(mz)ﬂwmarﬂaﬂﬁm
- Find the value of (102)3 using appropriate 1dent1ty |
.16 . ﬁg(z 4 G,-1) (1, 2) @ (-3, -5)%”@241‘31#%%1
In which quadrant the pomts (-2,4) (3 1), 2) and (-3, -5) lie.
' . . 3M@EI/OR -
ﬁlﬁr%ftqﬁﬂw?ﬁl(x y)aﬁmﬁﬁuﬁatﬁﬁﬁaﬁ%mﬁaﬂﬁﬁzﬁm—

8 |7 3. |1 | |

y
|_ . . . LY L
Plot the points (x, y) given in the following table on the Cartesian plane '

x [-2 [-1 |1 3
ly |8 7 3 -1

ER

© wod-duipuopaeoqdurmma/:dny

-

y17 ﬂg‘ﬂm ABCD # AC = ADE‘ afh AB

A ABC = A ABD

mAﬁWW%lm

In " |
ﬁg quadnlateral ABCD AC=AD and AB blsect ZA, show that
AABC AABD | |

[910]
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SITdT / OR

ﬁqmﬁ WWABW ADaﬁ?BCﬂwmm%Ea@ﬁsCD

?ET@EAB@W%‘F%{HW%|

In fig. AD and BC are equal perpendicular to a line segment AB. Show that CD bisects

AB.

—

D A

18 fig AT, 06 ga @ B @ U@ Slia W Sren T e Sid B Eeaia sRar el @)
Prove that the perpendicular from the centre of a circle to a chord bisect the chord.
3dr / OR

W ampfa # B OWWQﬁq?éraﬁrgA,B;c T UBR ¥, f5 £ BOC=30°A

moa*auuuopmoqdm Mmar/dyy
wod-durpuopreoqdur mmam//:dyy

ZAOB=60° ¥| aft 9y ABC. & afaRad 3o W D & fag & ML ADCEE PR |
In fig A, B, C are three points on a circle with centre O, such that £ BQC = 30°and,

. ZAOB=60°, if D is a point on the circle other than arc ABC. Find ZADC.

B_C
N
D
[91 0] | page 1101 16
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W19 90° FT PV IR SHH IF A |
Draw angle of 90°, also draw bisector of'it.

Wﬁ'ﬂGABCﬁWWWBC 7%43 7soaﬁvAB+Ac..13ﬁ

Construct a trlangie ABC in WhiCh BC=7cm, £B= 75° and AB + AC l3 cm.

L=

' moa*a‘u[[ﬁopmoqdm'MMMmdn,q

= w20 a’rﬁqmaﬂwwsooaﬂwaﬁmaﬁugwam%-

=

é a‘r'ﬁm_ . 105 AR

-

..5 - o | : 275 9

c’ " e -

g- .

2 aa‘ré & fod W&l 0 120 AR :

)

= .

3 ?ﬁﬁﬁmma‘anﬁaﬁmﬁmaﬁaﬁml

o

2

= Two coins are tossed simultancuu'sly 500 times and we get -

e | o \.
Two heads . 105 times R
'One head . i 275 times _
No head n : 120 times
Find the probability of occurrence of éa_éh of these events.
\ ) . .
[910] . S . " Page 12 of 16 .
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a‘ra@ﬁmg}

(i1) W‘c‘ﬁ;ﬂ‘o’t & (m) BIE TSB! A 8
1500

obtamed
Number of girls in a family 2 ] 0
Number of familios 475 | 814 | 211
' |

. . i -
Compute the probability of a family, chosen at random having -

i) 2 girls i) 1girl - (iii) No girl

R
—

1 v w SErE 16 WA R AR AMR B 12 . 2) vigg @ T gy Amwer v
fel IO SFHA A DI | (n=3.14) | (@)

“The height of cone is 16cm and its base radius is 12cm, find the curved surface area and

wodurpuopeoqdur mamm//:dyy

the total surface area of the cone (use ©=3.14)

N 3T /OR

families w1th |
2 children were selected randomly, and thc following data was

moa*a,u'[[uopmoqdﬁl'MMM,i/ﬁd:p,q

14 s mmwmmmﬁmmq@ﬂmwﬂﬂﬂ%%ﬁﬁ?ﬁw,

& Broar sra AT

Curved surface area of a right circular cylinder of height 14 cm, is 88 ¢m?. Find the

radius of the base of the cylinder.

e, . p———

[91 0] Page 13 of 16
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L]

".22 Wﬂ?ﬁ Wﬁl‘cﬂ W. T m?.-(x +2y + %z)zl'cﬁ‘l_ﬂ'x‘ﬂl'\’ BT |
ExPand thé fﬁllowing'-using suitat;]e i&éﬁtit}(. (x + 2y- +4z)%
-
RiCUEK] ﬁﬁ?.q -
3 4 y3 + 3 3xy? =%(x+y-+2j x [(x __y)z + (y_. 2)2 + (3 'I_"_X)Z]

. Verify that —

2 )2
4y 42— Byz =ty + D) x (k- + G-+ (2%
¥23 X + y =4 &1 AA i | http://www.mpboardonline.com
Dréw the graph of the following équatibn x+y=4
YT /OR

) AR

(ii) 2 ax ara IR @ w0 A y =3 P IR e Hifeg |

Give the géomctﬁt: rcprcéentatiqn of y = 3 as an equation-

(i) In one variable

(ii)' In two variables

®)

iﬁﬂﬁ’aﬂ.![ﬂdplﬂOC[CIHI‘MMM‘[/:di_lil{
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A match box measu . | of
_ re4cmx25 cmx 15crn What wﬂ]belhe volume ofapac

comammg 12. such ‘boxes?

-

341 / OR

_.(5)_ |

kct

a%eﬁﬁw%ﬁ%iﬂﬁswwmmmw ?ﬁw%anwa?rﬁrm

ﬁlﬁm"rﬁ‘mr[ﬂ_mq

The height of a cone ‘is 15 ¢m. If jis

base. [Use m =3.14]

ww%ﬁmwa%wﬁﬁrﬁmmﬁmmmaﬁanémmﬁwﬁ

fRME -
s & |A [B |C |D |E |F
St Mg e |75 |55 |37 [29 |10 |37

Given below are the seat

state assembly elections-

.\Po]itical Party |[A .|B | C

| Seaswon (75 [55 |37

(i) Draw abar graph to represent the p

| (i) Which political party won

the maximum number of seats?

W W%Wﬁﬁﬁﬁﬁmﬁmwﬁmm‘
(n) Wmﬁﬁmﬁm%l

s won by different political parties in the polling outcomes of a

olling results.

volume is 1570 cm?, find the radius of the

©

r

moa*a.u[[uopmoqdmmgw/ dny
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1
" L

W)’OR
'ﬁmﬁmmwam@mﬁmﬁwﬁ;mw%mﬁmwwsmm
’..xmmaﬁaﬁﬁm

393248 50, x, x +2, 72, 78, 8495

s The following observations have been arranged in ascending order. If the median of the

data is 63, find the value of x,

'___ 29 32, 48,50, x, x + 2. 72,78, 84,95
Hzmwﬁrﬂwaﬂmmaﬁﬁmﬁmﬁmwm s0 A, 24 A @32#? &
e . SO ©
| Find the area of the triangle whose sides are 40 cm; 24 ¢cm, and 32 cm. |
e | | ~ 3RAT/OR |
r,-fﬁ Brgst a’ﬁ Waﬂ ﬁr'gaqm 12 1 17 25 ¥ iR I GRA-sa0 . B | B B
: mmﬁﬂﬁﬁiﬁ'l |
_lﬁides of a triangle are iﬁ the ratio 12 : 17 .25 and its perimeter is 5'40 cm. Eind its area.

http:// www.mpboardonline.com
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